STYKLISTE

Side 1
MODEL 9057S
Pos. Art.nr. Betegnelse Stk.  Note
001 526053-6  FELT 1
002 416131-9  FELTAFDAEKNING 1
003 2110879  KUGLELEJE 1
004 681630-2  ISOLERINGSSKIVE (9029SF) 1
005 516713-8  ANKER 1
INC. 3,4,6
006  241908-1 LUFTERRAD 80 1
007 285832-8  LEJEAFDAKNING 1
008 211132-0  KUGLELEJE###(211111-8) 1
009 226737-3  TANDHJUL 16 1
010 961005-4 LASERING S-9 1
011 266012-5  BLIKSKRUE 5X35###(266373-3) 4
012 4161327  KUNSTSTOFKAPPE 1
013 233031-6  TRYKFJEDER 12 (9029SF) 1
014 266129-4  6-KANT SKRUE M5x25 (9047SF) 1
015 256445-2  SPINDELARRETIERSTIFT 6 1
016 125201-0  GEARHUS KPL. (9047SF) 1
INC. 12,13,15
017 152539-0  SIDEGREB 1
018 265976-0  SKRUE M5X10 1
019 2524256  MQTRIK M15X10 1
020 232163-6  TRYKSKIVE (9047S) 1
021 232163-6  TRYKSKIVE (9047S) 1
022 2677251 KOPLINGSSKIVE 1
023 226738-1 TANDHJUL 53 1
024 267167-9  SKIVE 15 1
025 962157-4  LASERING R-40 1
026 211278-2  KUGLELEJE 6203DDW 9029S 1
027 3168556  GEARHUSDAKSEL 1
028 322902-3  SPINDEL (9047SF) 1
029 265050-4  SKRUE M8x25 1
030 1652157  SKARM 180MM 1
031 122444-5  AUFNAHMEFLANSCH 47 1
032 224543-0  FLANGE 14-45 1
033 911230-7  KOMBI-SKRUE M5x18 4
034 819064-1 MAKITA SKILT (HR4000C) 1
035 643700-5  KULDAEKSEL (HM1800) 2
036 1919577  KULSAT CB-204 1
037 858614-7  NAME PLATE 9057S 1
038 182842-5 HANDGREB SAT 1
INC. 44
039 682540-6  KNEKBESKYTTER##(682568-4) 1
040 695107-1 ANSCHLUSSLEITUNG 2x1,5mm 1
041 687053-2  KABELKLEMMEPLADE (1900B) 1
042 265995-6  BLIKSKRUE 4x18###(266326-2) 2
043 265999-8  SKRUE M4X25###(266374-1) 4
044 182842-5 HANDGREB SAT 1
INC. 38
045 651178-8  AFBRYDER###(651179-6) 1
046 266059-9  BLIKSKRUE 5X75 2
047 819064-1 MAKITA SKILT (HR4000C) 1
048 159952-3  MOTOR HOUSING COMPLETE 1
049  645140-3 KONDENSATOR 1
050 539183-4  STARTSSTROMSBEGRANSER 1
051 442129-0  PAKNING (9047SF) 1
AO1 782407-9  TAPNOQGLE 35 1
BO1 125060-2  TORQUE LIMITTER ASS'Y 1

INC. 19-28




EKSPLOSIONSTEGNING

MODEL 9057S

Side

1




